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Response tables
> points = 100
Pts agree
ANnswers agree
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FOLLOWS



(a) 1

(b) 2

arithmetic

14+1=77

98%

O pts




(a) True

(b) False

T or F:
Any local max is

Topic 0450

a global max.

10 pts




T or F:

Any global max is
a local max.

(a) True

66%

(b) False

Topic 0450 10 pts



T or F:
At any critical number is
a local max or a local min.

(a) True

52%

(b) False

Topic 0450 20 pts



T or F:
Any local max or local min is

at a critical number.

(a) True

83%

(b) False

Topic 0450 20 pts



T or F:
Any global max or global min is

at a critical number.

(a) True

82%

(b) False

10
Topic 0450 20 pts



[d/dzx][xe¥Y + y] = 77 \

(a) e¥Y +xze¥ 4+ 1

96%

(b) ¥ + ze¥y’ + o

(c) e¥ + ze¥ + o

(d) none of the above

Topic 0430 20 pts H
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